MECHANICAL TRANSPLANTER

MODEL 525 PARTS LIST

10

1
12
14
18
19
22
23
24
30

K}
32
33
35
38
39
40
41
42
43
44
48
49
313
328
334S
348DD
362
373
376S
381
3811
383
386
386P
395R-8
396D-24
408
408DD
41
416
434
436B

Inside Chain Guard

32 Steel Chain for Direct Drive - 63 Links
Direct Drive Tire & Rim

Outside Chain Guard

Unit Chain Tightener Bracket

Short Chain Tightener Pipe Bearing
Unit Chain Tightener Arm

Washer to Hold Spring

Long Chain Tightener Pipe Bearing
Wheel Chain Tightener Pipe Bearing
Main Frame of Rear Half

Wheel Chain Tightener Spring
Wheel Chain Tightener Arm

Lift Chain

Wheel Hub with Sprocket

Main Frame of Front Half

Left Clamp less U-Bolt

32 Steel Chain for Direct Drive - 34 Links
Right Clamp less U-Bolt

Bushing for Clamp

Chain Lift Plate

Right Direct Drive Clamp for 4x4 or 4x7
Left Direct Drive Clamp for 4x4 or 4x7
1/4 X 1-1/2" Cotter Pin

3/4" Flange Block

Guide for pocket (disc)

3/4" Lower Shatft for Direct Drive
3/4" nylon bushing w/grease zerk
Chain Tightener Spring

Tension Spring

7 Tooth Spacing Sprocket

7 Tooth Idler Sprocket

9 Tooth Spacing Sprocket

Direct Drive Drawbar Shaft

Shatt Clip Pin

8"round point shoe extended 4"

24 hole pocket disc

Dirt shield

Double disc shoe dirt shield

R-2 pocket spring

3/4" Qilite Bearing

7/8" Oilite Wheel Bearing

L-Bolts for Pocket Guides

453 Pocket chain upright (after 1992)

462

521

522

529

530

533

534

637
639AHDD
639AL
649D
649DDR
649F

649R
650
695
696
697
715

726

727

740
1000AL
1000AR
R-2
24R-2
1000BJD
1000DDSCMP
1000JD
1000PF
1000SS
FC167
FC205
FC209
FC213
FC335
FH227
FH335
FMB500
FNH150
FNH300
FW300
OE-74 COLB

11 Tooth Wheel Sprocket

Roll Pin

Clip Pin

Scraper blade

Wheel scraper mounting bracket
Wheel scraper complete (after 1983)
4 X 3 X 3/8 angle iron

Fiberglass Seat Bracket

Direct Drive Packing Wheel Hub
Adjustable packing wheel less hub
Diagonal shoe brace for 395R
Rear shoe brace for double disc
Front shoe brace for 395R

Rear shoe brace for 395R
Foot Rest for Models SU-3, 500, 525, 550

SU3 style plant box
Bracket

Bracket

3/8" U-Bolt for Coulters & Direct Drive
L Seat Bracket

1/2" U-Bolt for Seat Bracket

7/8" U-Bolt with Nuts

Axle for Left Side of Model 1000

Axle for Right Side of Model 1000
Neoprene gripper for R-2 pocket

R-2 pocket for 24 pocket bed planter
Double disc bearing (after 1992)
Complete dbl.-disc w/ braces&shield
13.5" Double disc shoe disc with hub (3/4" bearing)
Planter frame for Model 1000

Double disc shoe spacer

5/16 x 2" Carriage Bolt

3/8 x 3/4" Carriage Bolt

3/8 x 1" Carriage Bolt

3/8 x 1-1/2" Carriage Bolt

1/2 x 1-1/2" Carriage Bolt

3/8 x 3-1/4" Hex Head Cap Screw
1/2 x 1-1/2" Hex Head Cap Screw
7/8" Machinery Bushing

5/16" Finished Hex Nut

1/2" Finished Hex Nut

1/2" U.S.S. Flat Washer

Fiberglass Seat with Cut-out less bracket

[ Enterprises, l?c.
D Q : . : _:)

1395 US 17 South
Elizabeth City, NC 27909
Phone:(252)264-2400

147 Hwy 32 North
Sunbury, NC 27979
Phone:(252)465-8614

www.bandsent.com

5038 Old Raleigh Road
Wilson, NC 27893
Phone:(252)237-0006

LN
» MECHANICAL
TRANSPLANTER

G




770 1 O\

= MECHANICAL
TRANSPLANTER

MODEL 525




